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#i ncl ude <stdio. h>

int main() {
int a=7,
int *p = &, **p2 = &p, ***p3 =&p2;
printf("%l % % % % %d\n",
***p3,(int)**p3,
(int)(p3+5)-(int)p3,

(p2+5) - p2,
(a+5)-a,
**p3 - p);
return 0O;
}
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1. ***&p3
2. *&&p2
3. *&p2
4. &*p
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#i ncl ude <stdio. h>
#i ncl ude <stdlib. h>
int main() {

char *str = "The Road goes ever on and on \n Down fromthe door
where it began.\n Now far ahead the Road has gone,\n And | nust
follow, if I can,\n Pursuing it with eager feet, \n Until it joins

sonme |larger way \n Where nany paths and errands neet. \n And whither
then? | cannot say. \n";

int x =7, y=2,2z=19, ¢c=0;
size_t i,j,Kk;
char ***ar3d = (char***)mal | oc(x*si zeof (char**));
for(i=0; i<x; i++) {
ar3d[i] = (char**)mal | oc(y*si zeof (voi d*));
for(j=0; j<y; j++) {
ar3d[i][j] = (char*)mall oc(z*si zeof (char));
for(k=0; k<z; k++)
ar3d[i][j][K] = str[c++];
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int main() {

int n; /* nunber of words */

char **table = readWrds(&n);

sort(table,n);

print(table,n);

freeTabl e(tabl e, n);

return O;
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$ g3 int check.c
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$ g3 underhill *.txt
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$ man fprintf
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